Colour the Measuring Jug

Colour each jug to show the correct volume.
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Challenge: Circle the jug that has the most liquid.
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Colour the Measuring Jug Answers

Colour each jug to show the correct volume.
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Challenge: Circle the jug that has the most liquid.
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Colour the Measuring Jug

Colour each jug to show the correct volume.
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Example: 8ml 3ml 9ml
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Challenge: Circle the jug with the highest volume of water.
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Colour the Measuring Jug Answers

Colour each jug to show the correct volume.

< ] < ] < ]
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Iml— Iml— Iml—
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Challenge: Circle the jug with the highest volume of water.
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Colour the Measuring Jug

Colour each jug to show the correct volume.
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Challenge: Circle the two jugs with the same volume of liquid, then put a tick next to the
jug with the larger overall capacity. Explain how you know.
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Colour the Measuring Jug Answers

Colour each jug to show the correct volume.
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Challenge: Circle the two jugs with the same volume of liquid, then put a tick next to the
jug with the larger overall capacity. Explain how you know.
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